Q1) Multiplication of Money
a) Multiply %15 by 3.

b) What is ¥25 x 47

c) Multiply ¥5.50 by 6.

d) Calculate 8.75 x 2.

e) Find the product of ¥10.25 and 5.
f) Multiply Z4.50 by 7.

g) Calculate ¥11.75 x 2.

i) Find the product of ¥7.20 and 4.
Word Problem:

Q2) A chocolate bar costs ¥15.50. If Rohan buys 4 chocolate bars, how
much does he pay in total?

Q3) The cost of one notebook is ¥22.75. A shopkeeper sold 8 notebooks to
a customer. How much money did the customer spend?

Q4) A pen costs ¥12.50. If Neha buys 6 pens, how much does she spend?
Q5) A train ticket costs ¥135.75. How much will 5 tickets cost?

Q6) A water bottle costs ¥48.25. If a store sells 10 bottles, what is the total
amount of money earned?

Q7) The cost of a movie ticket is ¥120.50. If a family of 7 goes to watch a
movie, how much do they pay in total?

Q8) A bag of rice costs ¥58.75. If a shopkeeper buys 12 bags of rice, how
much does he pay in total?
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Ans-1)
a) ¥15 x 3 = 45

b) 25 x 4 = 100

c) ¥5.50 x 6 = ¥33.00
d) ¥8.75 x 2 = ¥17.50
e) ¥10.25 x 5 = ¥51.25
f) 4.50 x 7 = %31.50
g) ¥11.75 x 2 = ¥23.50

h) ¥7.20 x 4 = ¥28.80

Ans-2) Solution:
¥15.50 x 4 =¥62.00

Ans-3) Solution:
22.75 x 8 = ¥182.00

Ans-4) Solution:
¥12.50 x 6 = ¥75.00

Ans-5) Solution:
¥135.75 x 5 =¥678.75

Ans-6) Solution:
348.25 x 10 = ¥482.50

Ans-7) Solution:
T120.50 x 7 = ¥843.50

Ans-8) Solution:
€120.50 x 7 = ¥843.50
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